
Page 1 of  23

FLAIR COCO HIGHSLEEPER WORKSTATION



Page 2 of  23



Two People Required

Page 3 of 23

Attention Sticker

Mattress Height Sticker

1

2

6

7

5

3

4

8

9

1312

14 15

15

15

15

15

15

16

17

18

19

20

10

11

21

22

23

24

25

32

33
31

30

29

28
28

27

26

34 34 34 34 34 34

15

35



HARDWARE LIST: Carton 1 of 4

Page 4 of 23

Part Description

A

B

C

D

E

F

G

H

95

Qty

15

12

4

14

12

7

M

N

O

3

2P

Q

13

66

R

I 11

K

J

S

8

52

14

WOOD DOWEL M6 x 25mm

CAM NUT 15mm

CSK SCREW M4 x 38 mm

CONTRACTFIX DOWEL 5971

JCBC SCREW M6 x 30mm

STEEL NUT M6

CSK SCREW M3.5 x 16mm

PVC NAIL 5/8"

M5 x 40mm UNITAR SCREW

L 1

JCN M6

JCBC SCREW M6 x 15mm

DOUBLE END BOLT 7 mm

WOOD DOWEL M6 x 50mm

METAL CENTER PIPE

PIPE 457 mm

V - BRACKET

CAM BOLT

JCBC SCREW M6 x 50mm

1

27

PARTS LIST

Carton 1 of 4:

Left Back Panel

3

4

5

1

1

1

12

8

1

1

Table Left Panel

Wardrobe Left Side Panel

1

1

16

7

2 1

1

11

Wardrobe Right Side Panel

Wardrobe Bottom Panel

Wardrobe Bottom Base Panel

34

25

27

28

31

32

3

1

1

9

13

14

21

10

1

1

1

19

15

16

17

18

22

1

1

1st Step

Ladder Step Support Panel

Wardrobe Top Support Panel

Wardrobe Back Panel

Wardrobe Shelf Panel

Right Side Panel (Rear)

Right Back Panel

1

1

Table Bottom Support Panel

Table Support Panel

Table Top Panel (Small)

Shelf Panel

1

Front Guardrail (Short)
1

1

1
3rd Step

4th Step

Ladder Left Panel

Ladder Step Support Panel

2nd Step
1

7

Base
6

1

Ladder Step Support Panel

Left Side Panel

Right Side Panel

Part Description Qty

Part Description Qty

Part Description Qty

Part Description Qty

Carton 2 of 4:

Carton 3 of 4:

Carton 4 of 4:

2M6 ALLEN KEY

Hardware

Table Right Panel
33 1

20 1
Ladder Right Panel

23 1
Front Guardrail (Long)

24 1
Rear Guardrail

26 2
Base Support Panel

30 1
Table Bottom Support

29 1
Table Top Panel

T 1USB LIGHT

35
Guideline Panel

1



Page 5 of 23



1

3

18

44

14

2

B

J

O

P

Page 6 of 23

E

K 3

4

H

O

J , K

H

B

Mattress Height Sticker

1

2

3
5

6

7

9
H

H
H

H

Q

H
H

H

P

P

J
J

J
J

J

J

J
J

J
J

O
O

O
O

11

12

13

20

21

14

15 x 7

18 17

16

10

H
H

H
H

H

H
H

H
H

H
H

J

J

J
J

J
J

J
J

J
J

J
J J

J J

J
J

J

JJ

K
K

B
B

B

O
O

O
O

O
O

O
O

E E

P

O
O

8

5Q

19

QQ

Q

K

J

J Q



2

Page 7 of 23

27

28 x 3

29

31

30

32

33

22

23
H

H
H

H
H

H

H H

H
H

H

H
H

H

H
H

H

H
H H

H

H

H

H

QQ

QQ

QQ

Q

Q

Q

Q
Q

Q
Q

Q
Q

Q

Q

Q

Q
Q

Q
Q

H
H

H
H

H
H J

J
J

J

J

JJ

JJ

J J

J J

BB

B
B

B
B

B
B

J

J

J

J

J

12

34

22

B

J

H

22Q

3

1A

1

2

A

J

B

J

B

J
B B

J

Attention Sticker

24

K
K

K
K

4K

S



4

5

Page 8 of 23

12A

1

2

3

4

3

6
5

A
A A

A
A

A

A

A

A

A

A

A

1

2

S



6

7

Page 9 of 23

A 2

A

A A
A

A
A

A A

A

A

A

A

12A

7

8

A

A
S

S

4

3
12

3



8

9

Page 10 of 23

I 2

21

10

12

13

I
I



11

10

Page 11 of 23

A

A 1

14

20

18

17

16

13
15

15

15
15

A
A

A
A

A AA A
A

A
A

A
A

A
A

A 16

A

12

14

S



12

13

Page 12 of 23

A
A

A A
A

A
A

A
A

A

A

A
A

A
A

A 16

A

M
M

M
20

19

20

M 3



15

Page 13 of 23

14

A
A

A 2

21

11

11

13

20

S



Page 14 of 23

16

17

9

I 3

I

I

I

9

8

6



Page 15 of 23

18

19

A
A

A 2

23

9

8

I
I

I

I
I

I

I 6

S



Page 16 of 23

21

20

C 4

F 10

23

22

F

F

F

F

F

F

C

C

C

C

C FF

22

23

24

26

26

SSS

F

F

F

F



Page 17 of 23

22

23

G

G
G
G

G

G

2223

24

G 6

G

G

G G
G
G
G

G

21

20

9

24

22
23

S

S

G 6

8



24

Page 18 of 23

27

28
A
A

A
A

A
A

27

29

A 6

A

25

A 4

A
A

30

32

31

33

A

A

29

A

31

30

32

33

S

S



Page 19 of 23

32

A
A

26

A 2

A

27

A 13

A

30
11

R 1

R

3

S

23

19

A
AA

10

8

24

C

F

C
F

C
F C

F

C 4

F 4

A

A

A

A

A

A

A

A
A

A
S

13



Page 20 of 23

28

A 2

A
A

A

33
13

29

A 4

A

A A
A

25

10 11

S



30

CC

D
D

CC

D
D

C

D

4

4

L 1

L

31

R
12

R
R

R
R

R
R

R
R

R
R

R
R

Page 21 of 23

Gap 70mm ±

Gap 70mm ±

Gap 70mm ±

Gap 70mm ±

Gap 70mm ±

34

21

9

35

34

34

34

34

34

35

9

21

*Use panel  35  as guideline to fix panel  34  as shown.



Page 22 of 23

32

N 1

N

33

E 4

T 1

T

T

E

6 7



Page 23 of 23


	AI - DN BED 3758 1.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 2.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 3.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 4.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 5.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 6.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 7.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 8.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 9.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 10.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 11.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 12.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 13.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 14.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 15.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 16.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 17.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 18.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 19.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 20.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 21.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 22.pdf
	Sheets and Views
	Model


	AI - DN BED 3758 23.pdf
	Sheets and Views
	Model





